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1. FoT£ppeRgBhRE({ow)EH?
a. JMEEF7 & (foreign reserve)
" b. & % 1E4k%E (current account balance)
c. AXBtE (human wealth) -
d. &8k 84 F (financial wealth)

2. P AXEH—WEAE  BAY B —RWEKE  eh AXRE L B ER(E—AXEH
BEMEAKOYVEEERE) A -
aE%%ZE%%

b TR R —Bdn XA Y BT Y 4Rk
c@%xﬁﬂﬁmYEXﬂqu%ﬂX%ﬁm%

d. Bk (2)(b)(C) Ak it A8 R EAE

3. HRABHEGavor)TE 0 S(EH)F TR > FIUTHELERE T
a. BAERRmARE T '
b. RATFMEmEEH BRD
c. BHARMRMEEHETRD
d B#&KMR T RRHE B Ao

4, F Fl7 4 EAE T :
A SRR TR R R RRE e 4 44 % % (consumption smoothing) #9 %
Tz REREHBRARMEHE N HEEFEEETH BRI AYH -
b, BB B ey B A B A8 A & K (instantaneous utility function) % i B2k A R
c. #R4E1E % F7 42 (permanent income hypothesis)éy % BEHhey B EH » W RF TH—HF =4
B —Ea bl EFeRRE—EAFBERR
d. Bk (2)(b)(C)4L AR 5 -

5. BT o REUF XK SEUF RBRAME A 0 HER
HMETH > A LA

#EES > HETHE

HERE BERE

24 L (2)(b)(c) R AR B -

e o

6. %4 EFBA Y=40L-05I7 > £+ L AASMEE  BASHHLE 2083w LT wAEH
TE RHEHEELER
a. 20
b. 10
c. 5
d. 2 E@)b)c) %Ik
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7. T 3T B A A4 1S ¢4t (IS curve) 5% ?
a. P Lt
b. JTHME T
c. TR MR
d. X E(a)b)(c)® &

8. MR TP B-F7 b (currency-deposit ratio ) # 0.25 » # fh-75 4 kb % (reserve-deposit
ratio) % 0.25 » A 1§ % & # (money multiplier) %
a. 1.5
b. 2.0
c. 2.5
d. 3.0

9. AR & 69N A B K394 (self-correcting property of the economy)#s &4 & 7 &k 0 (output gap)
H B BT FUT sl 1R
a. AR A A ST A4 T 2k
b. RAEEBMAAKLET itk
C. 3% ok AR A H (potential output)

d. Afscsk 1 HEUR

V0. F 5457 & fome 42 7 4t % 3 ) T4 07 34 465 (Walrasian cquilibrium) gk & ?
a. o RGP A n BB 0 n 8B ARE B] 4T 3G
b. Ju R A n BT n BTG A A E K 6y ade g 0
C. e RAETR T A7 n B S5 o n A8 T 35 6 AR R4 40 6 A B 0
d. 2L E(a)(b)(c)#F R FE 5%

I'l. Nepal imports most of its fuel supplies from India. In 2015, India imposed a blockade (f}§i), and
hence only 5% of fuel Nepal needs can go through their border. What would happen to the market of]
bicycles in Nepal?

a.  The equilibrium quantity would decrease but the equilibrium price would increase.

b.  The equilibrium quantity would increase but the equilibrium price would decrease.

¢.  The equilibrium quantity would increase but the equilibrium price would be uncertain.
d. The equilibrium quantity and price would both increase.

12. Betel nuts (f5#8f) are inferior goods for Karl. Assume that the government imposes a per-unit tax of]
NT10 in the market of betel nuts. How will Karl change the amount of betel nuts he consumes?

a. He will increase his consumption on betel nuts.
b. He will decrease his consumption on betel nuts.
c. He will not change the amount of betel nuts he consumes.
d. His consumption on beiel nuts wiil be uncertain.

13. Assume that the utility function for Butt-head (AFEZE) is U(X,Y) =2X+3Y; he has income $140.
The price for X is $2/unit, and the price for Y is $4/unit. Which statement below is CORRECT?

a. If Butt-head has income $112, he should buy 24 units of X and 16 units of Y.

b. If Butt-head has income $112, he should buy 14 units of X and 21 units of Y.

c. If Butt-head has income $120, he should buy only 30 units of Y.

d.  If Butt-head has income $120 and the price for X becomes $3/unit (the price for Y is still
$4/unit), he should buy only 30 units of Y.
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14. A factory used 10 units of labor and 5 units of capital in the last year, and their output is 100 units.
This year, they use 5 units of labor and 10 units of capital, and their output is still 100 units. They
plan to use 10 units of labor and 20 units of capital in the next year; they expect that their output will
become 180 units. Which statement below is CORRECT?

a. Their production function is increasing return to scale.
b. Their production function is constant return to scale.

. ¢. Their production function is decreasing return to scale. :

d. Based on this information, we cannot know whether their production function is increasing,
constant, or decreasing return to scale.

15. Assume that a monopoly has a marginal cost function, MC = 10 (a horizon line). When they
maximize their profit, they set a price where the demand they are facing has an own-price elasticity -
of -2. What is the price they set? '

“a. 12
b. 16
c. 20
d 24

16. South China Sea is surrounded by six countries. No country owns the sea now. Each country can
establish offshore aquaculture fishery (2 _FFE4 A 3%) that earns $5 billion per year, or build an
inshore fishing fleet GIT g5 ALR?) that works on South China Sea. The value of fishes they can
catch from South China Sea each year depends on the number of fleets operating on the sea, as

shown in the following table. If each fleet can freely operate Number of | The value of fishes each

on the sea, how many countries will build their inshore fishing fleets country can catch

fleet? 1 15 billion

2 5 : T ilion
11101

b. ;1 4 8.5 billion

c. 5 5.5 billion

d 2 6 3 billion

17. Refer to problem 16. If China owns South China Sea and charges a uniform fee on each country who
sends a fleet operating on the sea, what is the maximized revenue (including revenue from the fee
and revenue from aquaculture fishery or the fising fleet) China can earn in this situation?

a. 23 billion
b. 21 billion
c. 18 billion
d. 16 billion

18. Which statement below is WRONG? _
a.The cost merchants pay for guards to prevent from being robbed in trade routes is one kind of]

transaction costs.
b.From Douglass North’s viewpoint, one important role of governments is to prepare guards for

merchants, which keep the order of markets (GEFFTHERT).
c.From Douglass North’s viewpoint, governments do not need the help from scholars to keep the

order of markets.
d.In human history, we can find that governments do not necessarily try to keep the order of markets

and promote trade (such as international trade).

FaAA
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19. Below is a game with a payoff matrix, where Costco and Walmart decide the location of their new

branch in Boston area. What is the payoff of the pure-strategy Nash equilibrium/equilibria in this

game Costco
) Newton Quinc
y
b'(ggg’iﬁg) j§j ‘§§8§§8> Dedham__| (320,380) | (340,320)
g (3 50’3'50) (320,380) Walmart | Waltham _| (290,330) | (340,340)
/(330,330) Medford | (350,350) | (330,320)

20. Refer to problem 19. If Costco moves first, what is the sub-game perfect equilibrium (SPE: the
equilibrium you get by backward induction in an extensive form game) in this game?

a. Costco chooses Newton, and Walmart chooses Dedham.
b.Costco chooses Newton, and Walmart chooses Medford.
¢. Costco chooses Quincy, and Walmart chooses Dedham.

d.Costco chooses Quincy, and Walmart chooses Waltham.

BN FLAA (B E 49, 200 REHBLER)

Lo 95 — S B b7 & P 485 4t A o F

B C=40+05(Y—T) - 500r
FLy WUk I = 40— 500r
THREEHEL: LK r) =05Y—500r

B T=G=20, B M =300 -
@ RMIS@FRAL_(1)_ » ADMFEXSL (2) -
(b) BWHKLEP =10 » 3L M4 E & Y= (3)_ -

20 A - RS A 0 BIABER 9= 1200+ 1000/ » B 48 % & 45 /4= 1000 - 5000 » 3t
oW B BB E o SMEEEE s = 1000 + 1000 > SFEE T £ 1d = 1800 - 5007 o i34
B BIRAI R W=_(4) - KEHEEEMBEE CA= (5) o
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1.

F~ HETRA (A3H10 5 FERH R TER)

(10 pts) You are an iﬁvestor, and recently got a house in NT 15 million, and after having decorated

this house (the cost is NT 1 million), you want to sell it to someone else. If you can sell this house|

immediately, you can get NT 18 million. However, since the average price of houses is expected to
decrease one year later, if you cannot sell it in this year, you can sell it only in NT 15 million.

Although you work hard, you have 1/2 chance to sell it in this year. The cost of working hard for you| ’
is NT 100,000. You can also hire an professional agent (ff1/}). If the agent works hard, you have 1/2|

chance to sell the house in this year (and hence you can get NT 18 million from this sale), but you
still have 1/2 chance to sell this house in the next year (and hence you can get only NT 15 million).
The agent has to pay NT 20,000 (for advertising, fuel, etc.) if the agent works hard. If he does not
work hard, there is no cost for him, but you have only 1/10 chance to sell the house in this year.
Assume that the agent can still get NT 50,000 from another contract if he rejects your offer.

a. Is hiring an agent is better than doing this job by yourself? If the answer is yes, how should you
design your contract? (5 pts)

b. Assume that there is a popular agent, and you have to pay him at least NT100,000 (he can get NT
100,000 from another contract if he rejects your offer). Yet, if this agent works hard, your chance
to sell this house in this year becomes 3/5; the cost of working hard for this agent is still NT
20,000. Of course, if he does not work hard, your chance to sell this house in this year remains
1/10. Should you hire this popular agent instead of a general agent? (5 pts)
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()L%ﬂgﬁﬁﬁkﬁ&%ﬁkAlEAﬂﬁﬁWEﬂﬁﬁ T TR ﬁ%ﬁm%Aﬁﬁ'
HEBAMFNARL? (AALHE (B)E & FH (OB F# D)ATH (E)ALHE

()2. BEE £ =734 8 BT A R4 E T 7147472 (A)#% % & Precision (B)&# &
Accuracy (C)rR#% (D)EZ% (E)X L% 3 -

O3 BEERT AL ARAN? (A)FH4 (B)BRM (C) R % D)F 1% (E)R L B3
()4 FAMTRMAR B PR S E i 47 CM#%(E%%M(Q;%(WFEﬂ
(E)sx £ % 3E - '

()5. & NRBHEE > n RHEKKD - HARBREEFER? (A)(N- n)/(N -1) (B)NI(N -n)
(CYn-1)/(N-1) (DN (E)s2 k- 3F -

(8. Excel‘l’é’ﬁEyﬁRand()Fﬁéiéﬁhﬁﬁbﬁt?ﬁ/\‘F?Jﬁ mFEsE? (AVREYE
(B &7 (C)=& (D)0~344 (E)m L% .

()7 R EAD M 41%&:&%15##(%;@)@? {4.2,2.4,2.5,2.7, 2.8, 2.9, 3.0, 3.5, 3.6,
3.9,4.1} » ®AEA # 3.0 69 F S & (percentrank)? (A)0.2 (B)0.4 (C)0.5 (D)0.6

(E)sA %3k -
()8. AEMEH » REZL@ T # ey 30 §2fu(percentile)? (A)2.7 (B)2.8 (C)3.0 (D)3.9
(E)3A b %3k

()&%3@&&%%%%&%%?’%h%%&Yﬁiﬂﬁ%ﬁﬁﬁﬁﬁﬁ’%PWﬂﬂ?
(A)0/216 (B)1/216 (C)10/216 (D)18/216 (E)sA L% JE o

( MO.EF BT 2 RGE2HEMF BYHBHEET - m&ﬂ%ﬁ\ﬁﬁﬁﬁém§?&%7'
(AVERZTHLI B BERELER C)RmEH R DR easgd By

( M1.8 % B A BNE,0%) T8 R—EHAAEA X1, Xoy0oXn » FHF2B 5SS =D (%) » B

E(SS)=(n-1)o? > BRI FSl4T# Ao sy e E3&? (A)SS (B)SS/n ‘=(C)SSI(n-1) (D)SS?
(E)s %3k -

(N2ERBEFBEBRIBHARS N=5 YHEARAR  BEATHERBIRONT RS E
#? (A)0,1) (B)(0,1/5) (C)(5,5) (D)(0,5) (E)sxE%3k -

(M3 BREBREZHHRALPHEL LS ERL G  SBBRN=50 HEAE ARSI ELE A
PAE > A NREENE  BRBEMEER T H 4 Xo 8935 D B AU N, o /) ?
(A)FrmmeE [BHpagE CHAEE DEXIRRE E)RE%IE-

( NMAfB g Bk s RESE—FRY P ERIER MTHEIEIE? (A)Z (Bt (C)F
(D)x2 (E)m %3k -

( M58 F Hovs Hi» 4 A28 % B REAZWE > Bl P[RIHi=?  (A)® —## %0
(B)R =& %p (C)rieh (D)FEAA ()X L3k -

I%@ﬁﬁm
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( M6.28% KL Ho » WERMKE T HZ AL R SBBRGORBAM? (AL p-value<o. (B)
% & p-value>o (C)JEZ p-value<a (D)IE & p-value>o/2 (E):A k% JE o

( M7 ABZAREF » 3§ EAGEARF B R > 4 Ho 2 Hi 89 BERERS o 0% > G4t T H| 4724 K2
(A — % Ra (B)H MR (CpEH (DMEMEM (E)RLHIE-

( M8 BRI E=AAR E(SVRIL BB PR FBETBAERE FHTELFHE?
(A)&3E (B)¥adk (C)RMdk (D) $#2% (E)RL%B3k-

(9. RIRE =R E(SVHLEE ] F BBz L FmE  BIkATHiRe?
(A)Z (B)t (C)F (D)x2 (E)mt L3k o

(1)20. B35 b Tl & A 2 582 0 BARIE S B84 S B AR MAT TM D7 A5 B TR 65T H 3k P
(A7 &% (B)&S# (C)R#k: (D) ks (E)RE%IE -

(V21T T TR FRAUBM AT BEAF(A2H)?  (A)LFE (B)F4H
(C)igfr | (D) St (E)st b3k o

(228847 R TAREFRRABIME > BAKR T IMTERERALEMELRARLE?
(A)RzZ4m (B)LE-Fxxf (C)ikzE (D)ABE (E) L%k -

(VRBATHERTRRYUSH T ARTH 3MEAL  BEFH 2/8KR > B4 4EEH - A
ARBZZARMESRESLSD? (A2 (B)6 (C)12 (D)18 (E)st ki 3k -

()24 A EHLRFRREENW T GRPHEHGY B(RIFGB) TREREF2 R e
(A)F R B)RzR CIRF#R (DMELERE (E) L%k -

()25. 8RB HH# P4 ERRBEE > MTHETAMRE?  (A)Pre-test (B)Post-test
(C)Pre hoc (D)Posthoc (E)ut b % gk o

()26 X 2AKBREAEBLZRBERFAZLRATH LR S0 R m ek Z QAR AR 10
HAERIL AR @5t IR E QY R e SST=420 » 4% £ F = SSE=360 - 7]
EEFERABOME T F 4=2 (A)1 (B)2 (C)5 (D)10 (E)m k% 3k -

()27. &Y, =pu+6+ fix, +e, i=l..mj=1.,m) 5 =0, BRIFEIMLE & ~iidN©O,0%) » th—#
ABRTFIMTHIA? (ARRESH  (BYREF LA (C)RLRHNH (D)VFF o4t
(E) 22 £ % 3k

()28. RER|EY » UFFTRETETHEMAL L RARBZ S RO AT HEFRA TR
WABLG > Al FF i A dAEA? (A0 (B)9 (C)8 (D)7 (E)L%sk-

()29.ABC A AF L ARBRREFEAAELTRETEFATHEE » NEHRE 10
R B3 R 8 5 AT RUBHRA AT SR E DR P AATRE?

(A)R%G sl 1T 8 (B)RM L R &M (C)REHR D) E—FM (E)k L%k -

()130. AZHRER6I0 L L3 - BRPEMBMERFREA LM ESMEREHRATHY

B 15 24> REEL I N4 - X 8 BopaEshi 6:15 + 7] > BB I MR B 47
(A)0.01 (B)0.05 (C)0.1 (D)0.5 (E)ut k% 3k o
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()31 WA #3572 (e, )9 83% A (A)iidN(0,0,°) (B)N(0,5,") (C)N(0,5,”) (D)iidN(0,?)
(E) L%k - Ay NEkFhELE-

| )32. HEWE T  FITETS RS EREN? (A)Variance inflation factor >10

(B)Condition index>30 (C)eigenvalues 3% 0 (D)& ## M A S+ (E)ALEL o
(). HEEWHTRENEREMATE? (AX=X (B)X=0 (C)X=co (D)Y=0 (E)u.L %3

w1k [Case Study] &= % 34-40 7 :
( )34. Correlation(X,X2)= ? (A)0.9816 (B)0.9389 (C)0.8564 (D)1 (E)s L% gk -

|( )35. Standard Error=16.0234 7 &5 F 7| {72 MR EE 2 ? " (A)MS Regression

(B)MS Residual (C) Adjusted R Square (D) F (E)st b %3k -

()36 4 —1E 8 SHX HF@ET » X AR EHEN? (A)45.318 (B)19.389
(C)85.513 (D)-80.713 (E)uu L% 3k -

()37. &t —fEa S XX2 5485 F » X i@ a3 En? (A)45.318 (B)19.389
(C)85.513 (D)-80.713 (E)xt L% 3k -

()38 HMEsF+ - X AR HE M Lower 95% & 347? (A)-124.3896 (B)12.7936
(C)15.8786 (D)-80.7133 (E)xt L% 3k -

()39 e L mE X X O ARG ER AL RALT? (A)S &40 (B)EER
Clag#K) (D)FHAD (E)AERIE-

( )40. & P[F?106.64746]T 4% Significance F=5.7191E-06 » & ? &% (A)= (B)< (C)>
(D)# (E)SAE% 5 -

[Case Analysis] An artificial data of Y and X are given as below, and X2 is the square of X,

[Data]

Y X X2
2.72 1 1
4.48 1.5 2.25
7.39 2 4

12.18 25 6.25
20.09 3 9
33.12 3.5 123
54.60 4 16
90.02 45 20.3
148.41 5 25
 244.69 5.5 30.3

[Q2.Correlation]

: Y X X2
Y 1
X 0.8654 1
X2 0.9389 0.9816 1

HEH A
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[ Scatter Chart)

Y vs X

300.00

25000 y = 10.380x2-80.713x +79.207 ©

200.00 R%=0.9682 =

150.00 y = 45,318 - 85.513 - o v

> 100.00 R? = 0.7489 i
50.00 B S e FRE(Y)
----- s
0.00 cb"'~-<_>_-,...,m:;12.<a...-9" . RPN ZIF(Y)

5000 © 2 3 4 5 6

-100.00
X

[ Quadratic Regression]
SUMMARY OUTPUT
Regresslon Statistics

Multiple R 0.983984
R Square 0.9682244
Adjusted R Square 0.9591457
Standard Error 16.023424
Observations 10
ANOVA

df ss MS F Significance F
Regression 2 54763.497 27381.748 106.64746 5.7191E-06
Residual 7 1797.2508 256.75011
Total 9 56560.748

Coefficients  Standard Error t Stat P-value Lower 95% Upper 95%
Intercept 79.296859 26.81957 2.956679 0.0212048 15.87865304 142.71506
X -80.713372 18.470691 -4.3698079 0.0032748 ? -37.037127
X2 19.389377 2.7893201 6.9512916 0.0002209 12.79368346 25.985071
RESIDUAL OUTPUT PROBABILITY OUTPUT
Observation Predicted Y Residuals g:aas?gi;?s Percentile Y
1 17.972864 -15.254582 -1.0794865 5 2.7182818
2 1.8528995 2.6287896 0.1860256 15 4.4816891
3 -4.5723762 11.961432 0.8464476 25 7.3890561
4 -1.3029633 13.485457 0.9542949 35 12.182494
5 11.661138 8.4243986 0.5961504 45 20.085537
6 34.319929 -1.2044767 -0.0852345 55 33.115452
7 66.673408 -12.075258 -0.8545025 65 54.59815
8 108.72158 -18.704444 -1.3236151 75 90.017431
9 160.46443 -12.051273 -0.8528052 85 148.41316
10 221.90198 22.789955 1.6127253 95 244.69193

~ END ~
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1. In general, a firms is more aware of competitors who have similar resources and who:
A) have low market dependence
B) compete against the firm in multiple markets
C) arelate movers
D) have low market commonality
E) arerelatively small

2. Nunya is a computer software company that employs highly intelligent, but somewhat unusual people.
The regular distribution of lollipops, toys, or treats every Friday is an example of a that
helps reinforce Nunya's culture.

A) story

B) ritual

C) material symbol

D) symbolism

E) tool

3. The structure that creates dual lines of authority is the
A) team structure

B) bureaucracy

C) matrix structure

D) virtual organization

E) simple structure

4. All of the following are considered generic business-level strategies EXCEPT:
A) differentiation

B) vertical integration

C) cost leadership

D) focus

E) integrated cost leadership/differentiation

5. According to Lewin, the stage of the change process where the new change is made permanent is

A) changing
B) unfreezing.
C) refreezing
D) movement
E) equilibrium

6. Which one of the following frameworks/models is most suitable to analyze a firm’s macro/general
environment:
A) Michael Porter’s Five Forces Model
B) Ansoff’s Growth Matrix
C) PEST (or PESTLE/PESTIN) Framework
D) BCG Model
E) TAM Model
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7.

10.

11.

12.

13.

The degree to which an individual believes that performing at a particular level will obtain a desired

outcome is defined by expectancy theory as what kind of relationship.
A) effort-performance

B) performance-reward

C) reward-personal goal

D) effort-satisfaction

E) agent-actor

The concept "success breeds success” captures the essence of:
A) social facilitation

B) goal congruence

C) social loafing

D) team efficacy

E) self-serving bias

Any incompatibility between two or more attitudes or between behavior and attitudes resuits in

A) organizational dissonance
B) cognitive dissonance

C) attitudinal clarification
D) values clarification

E) affective reactance

What is generally the result of groupthink?
A) higher-quality decisions

B) more risky decisions

C) less critical analyses

D) unpopular decisions

E) social reification

Because leading is one of the four basic managerial functions in organizations, leaders.
A) all managers are

B) some managers are

C) all managers are not

D) managers should be

E) some managers should be

Which of the following factors has contributed most to the current view that management is more
unethical today than before?

A) increasing publicity

B) increasing government standards

C) decreasing employee morale

D) decentralizing organizational structure

E) changes in shareholder expectations

Organization development can be viewed as an attempt to change an organization's
A) structure
B) financial goals
C) culture
D) market share
E) reputation
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14. Which is the primary reason for why managers often travel long distances to have a face-to-face meeting
with someone?
A) It shows respect and politeness.
B) It is a company’s ritual.
€C) Other forms of communication have security concerns.
D) It communicates a sense of power, rank, and mobility.
E) Most communication is done through body language.

15. management oversees the transformation process that converts resources such as labor and
raw materials into finished goods and services.
A) Control
B) Operations
C) Technology
D) Planning
E) Systems

16. Which of the following contributed most to many companies becoming highly leveraged in the lead-up
to the economic downturn in 20087
A) low financial returns
B) high interest rates
C) low interest rates
D) limited liquidity
E) no liquidity

17. Which of the following is the best example of a company being socially responsive?
A) meeting hazardous materials standards
B) giving Christmas bonuses to worthy employees
C) displaying "think green" posters
D) building a community day-care center
E) offering coupons to loyal customers

18. A retail clothing store manager who estimates how much to order for the current spring season based on
last spring's outcomes is operating under what kind of decision-making condition?
A) seasonal '
B) risk
C) uncertainty
D) certainty
E) factual

19. Planning gives organizations direction that primarily helps them
A) improve financial performance
B) improve their image in the business community
C) improve morale of middle managers
D) improve morale of all employees
E) improve teamwork and coordinate activities

20. All of the following are characteristics of a highly formalized organization EXCEPT
A) explicit job descriptions
B) little discretion for employees
C) minimum number of rules
D) a standardized way of doing things
E) centralized decision-making processes

A ok




BiF LRE1062FEFALEREFHBEARSA

FELME FPERE [FASEFTERLETEES - 284 - RERA] A 441004
MAMABRMERAR "ATU, EAHERCESA) #£4RRF47

= WA i A 254
AP IR B2 b E AT 7R
1. Please briefly explain the five-stage group development model. (10%)
2. Please briefly discuss the Job Characteristics Model. (10%)
3. A20171A18 M (FohEx) &“— o — kM5 EXET - SR BRA (1) 75
“— ] — B 7 (3%) (2) AR BB SR AE ) o £ B R R BEA£TRAE 7 (2%)
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1. Please clearly (a) explain the differences among ethnocentric, polycentric, and geocentric
orientations in cross-cultural settings (9%); (b) identify which cultural orientation was adopted by
the American hosts (1%) and (c) provide evidence illustrated in the case to support your answer
(3%).

2.  Why were the American hosts surprised by the behavior of the Taiwanese? (3%) How do you
think the Americans expected the Taiwanese to behave? (3%)

3.  Why do you think the Taiwanese behaved the way they did? (6%)

Case title: Pull Out All the Stops

A U.S. packaging company wished to extend its activities in the area of convenience foods. It has
pinpointed one particular area where it could supply pizza boxes to half a dozen chains of pizza
restaurants which operated home delivery services. These chains relied on local suppliers for their
pizza boxes and were unhappy with the products supplied, the irregular delivery and, above all,
the cost.

Through intensive online research and consultation with the commercial section of the
embassy of the Republic of China (Taiwan), the Americans had managed to find a packaging
manufacturer near Kaohsiung that could provide pizza boxes at a very reasonable price in line
with the specifications and quantities required and deliver them within the deadlines set.

Negotiations by email and phone had taken place and a deal seemed imminent. Before
contracts could be signed, however, it was agreed that both the Taiwanese and American partners
should visit each other’s headquarters and meet face-to-face to establish complete confidence in
their cooperation and to settle final details. The Taiwanese were to visit U.S. and the Americans
were fly to Taiwan two weeks later.

The American company decided to pull out all the stops to give their visitors a reception they
would never forget. They arranged an elaborate welcome ceremony in a five-star hotel, to be
followed by an authentic Taiwanese dinner. Considerable attention was paid to all the details
involved, some of the ingredients for the meal had even been specially imported from Taiwan for
the occasion.

Eventually the big day came and the Taiwanese guests were whisked by limousine to the hotel

the lavish words of praise from the Americans in front of the hundred guests presented, and the
bonhomie everyone tried to engender, the Taiwanese remained reserved and very formal in their
behavior.

During the meal the Taiwanese did not seem to appreciate the effort put into the food they
were served. Moreover, they said very little and the attempts by the Americans to keep the social
conversation going eventually ended in silence on both sides. Despite being promised an exotic
Taiwanese floor-show after the dinner, the delegation made their excuses (they were tired after
their journey) and quietly retired to their rooms. The Americans were surprised and disappointed.
What had gone wrong?
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1. Find the derivativeg—y of the following. (15%)

'
. .. 3 5 5 1
. VX +vY =10 11. =——— 111, y=t,f=——
' vy P x4 Y 3x-1
2. Evaluate the following (25%) .
: 1-e” tox
i. ii. —dx iii. |xe¥dx  iv. | V. dx
&= J lim= v [5

3. Sketch the following, indicate roots, local extrema, inflection point, concave
structure and asymptotic lines (if applicable). (20%)

i f(x)= -—5- ii. f(&)=8 -5t* =208

Find the average value of f(x)=7x* over [0,2] (10%)

=~

5. Find g'(x)given g(x)=[t*costdr. (10%).
0

6. Find the Taylor polynomial of the 5" degree of f(x)=e™ and the remainder
term Ri(x). (10%)

T. NAREHZBABRAREID000 T > HbhseF  EEYLT - FRNATEBEALBAES D
BMARBEFRLENET - wRERWRPFLERPNA U BRBEEBRE EGH
FRE e - (10%)
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